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QUESTION 1

Which two are defined by SAML? (Choose two.) 

A. a standard that describes an access control policy language for XML documents 

B. a protocol by which clients can request assertions about subjects from SAML authorities 

C. a standard for including digital signatures in SOAP messages for Web services that require single sign-on 

D. the structure of the XML documents that transport authentication and authorization information between services 

E. an API in the form of the SAML reference implementation created by OASIS 

Correct Answer: BD 

 

QUESTION 2

A JAXR client has established connection with a UDDI registry and needs to get a service bindingfrom the registry.
What is required to accomplish this task? 

A. find the appropriate concept and then find the service binding associated with that concept 

B. find the appropriate authentication token and then find the service binding associated with that authentication token 

C. find the appropriate organization, get the tModel associated with that organization, and then find the service binding
associated with the tModel 

D. find the appropriate organization, find the services associated with that organization, and then find the service binding
associated with the service 

Correct Answer: D 

 

QUESTION 3

A developer needs to write a Web service that supports user sessions that timeout after 120 seconds. Which
configuration file is correct for the developer use? 

A. web.xml 

B. server.xml 

C. ejb-jar.xml 

D. service-config.xml 

Correct Answer: A 

 

QUESTION 4
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Which three can an EJB-based endpoint use? (Choose three.) 

A. HTTP sessions 

B. Java EE 5 declarative security 

C. Java EE 5 programmatic security 

D. client-demarcated transactions 

E. container-managed transactions 

Correct Answer: BCE 

 

QUESTION 5

A developer is writing a Web service method that needs to accept multiple types of requests. Based on the request\\'s
content, the service performs time-consuming steps, such as verifying the user\\'s account, checking credit ratings, and
building a list of offers. Which two approaches are appropriate to use in this situation? (Choose two.) 

A. a synchronous, document-style approach 

B. a synchronous, procedure-style approach 

C. an asynchronous, document-style approach 

D. an asynchronous, procedure-style approach 

E. HTTP and HTTPS 

F. SMTP or other asynchronous protocol 

Correct Answer: CF 
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